2

(x8) 3/8-16 X 2" Socket Head Bolts
(x8) Washers

j:/—Access holes for bolts and washers 3}

L 1 _ 0

To RcﬂlA ﬂ
P Leg Indexes fit into top of the legs "

= < —
Bottom Rail

=0

Tandem Legs

Leg Levelers

Tandem Seating Frame Assembly Instructions

Insert the top rail into one leg as shown.

Top Rail Detail
Access Holes

This is the back face of the rail

Leg Index is on the boftom
Rivet Nuts are on the back toward the top

Bottom Rail Detail

This is the front face of the rail

Leg Index is on the bottom.
Rivet Nuts are on the boftom toward the front.

The leg index fits into the leg and the rail should be against the leg.
Insert the bolt and washer through the access hole and into the leg.

Tighten the bolt with a 5/16" allen wrench or T-Handle.
Continue with the remaining (x3) washers and bolts.

Repeat the procedure for the bottom rail.

Adjust the levelers so the frame sits flat on the floor.

P.O. Box 212 Johnstown, Co. 80534
970.587.9044 highmarkmanufacturing.com

]

HIGH MARK

Manufactaring., Inc.



Bottom Rail

1/4" Washer
1/4" x 3/4" Button Head Socket Bolt

Tandem Seating Final Assembly Instructions

The seat pans are placed onto the assembled frames.

Top rail first and then the bottom rail.

The arm rests are placed onto the frame bottom rail first and then the top rail.
The tube caps are inserted info the end of the rails.

A rubber mallet might be needed to get them in place.

HIGH MARK

Manufactaring., Inc.
P.O. Box 212 Johnstown, Co. 80534
970.587.9044 highmarkmanufacturing.com

2 ]



	Sheet1
	Drawing View1


